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PRE - UPPER PRIMARY SCHOLARSHIP EXAM
English (First Language) - Mathematics

Time - 1:30 | Question Paper - 01| Mark - 150
1) Pick out the word that is a noun :
1) noble 2) error 3) equally 4) final
2) What does the following abbreviation stand for ?
L.P.S. -
1) Indian Public Service 2) Indian Police Service
3) Indian Post Service 4) Indian Plan Service

3) Choose the correct pair of homophones :
1) hare - hear 2) check - cheque 3) root - route 4) all the above

4) -] This greetings card is for -
WAFP)-
g ﬂ.& 1) Dashara 2) New Year
¥ PAY]p ¥ | 3) Birthday 4) Teachers Day

5) Give the antonym of ‘minimum.’
1) maxemum 2) meximum 3) maximum 4) mexumam
6) How many small meaningful words can be formed if the letters in the word

‘mango’ are arranged in straight order ?

1) two 2) five 3) three 4) four
7) Identily the plural form :
1) polio 2) child 3) geese 4) ladys
8) | —> mace Find the title of the given word register :
P s dove 1) grams 2) spices
’ - 3) planet 4) tasts
9 Choose the correct word for the given pictures :
1) electrician 2) cobbler
3) mason 4) engineer
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10)

11)

12)

13)

14)

15)

16)

17)

Choose the adjective in the sentence :

A large van can not pass through a narrow road.

1) through 2) pass 3) large 4) van
Find the word with the correct spelling :

1) Physics 2) Civevs 3) Geomatry 4) Langage
Choose the correct word for the given picture :
. 1) library 2) play ground
3) school 4) post office

Arrange the-following words to make a meaningful sentences.

to must school come he

1) He must to come school. 2) He to must come school.

3) He must come to school. 4) He must come school to.
Identify the wrong verb adverb pair :

1) come - daily  2) work - slowly 3) sleep - little  4) walk - carefully
How to start writing a letter to your father ?

1) Your respectifully 2) Your affectionately

3) Respected father 4) Dear father

Choose the correct pair of cardinal - ordinal numbers.

1) 20 - twenty 2) 10 - teneth 3) 90 - ninetieth 4) 15 - fifteen

Lh Pick out the missing letter to fill in the crossword :
lala] [r]y] 1) q 2) e

1 ;

n 3) 1 4) y

18 - 20 : Look at the picture given below and choose the correct options to fill in

19)

the blanks

I am a ..........

1) tiger 3) elephant 4) fox
I am king of ..........

1) willage 2) kingdom 3) forest 4) story
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20)

21)

22)

23)

24)

25)

26)

27)

28)

29)

30)

I have ........... that no other animal has.

1) beak 2) mane 3) tail 4) eyes

Find out the proper word giving the sound made by ‘owls.’

1) howl 2) coo 3) croak 4) scream
Which is the correct alphabetical order of the following group of words.
1) door, house, fish, nose, tame. 2) door, fish, house, tame, nose.
3) door, fish, house, nose, tame. 4) tame, door, fish, house, nose.
Arrange the letters given below to form sensible words :

‘anuter’

1) natuer 2) nature 3) netura 4) unater

A person who fits and repairs water pipes, toilets, etc. -

1) geologist 2) optician 3) plumber 4) cobbler
Choose the name of the youngone of the following animals :
rhinoceros -

1) lamb 2) cub 3) calf 4) kid

Identify the wrong pair from the given pairs of international numerals and

Roman numerals ?

1) 27 -XXVII 2) 40 -XL 3) 56 -LVI 4) 63 -LVIV
27000 is divisible by all numbers in which group ?
1) 2,3,5,7 2) 2,525, 50 3) 2,5, 17 4) 12, 15, 22

There are 100 trees in all in a garden. %} trees are of mango, % trees are
of orange, and remaining are coconut trees. How many coconut trees are
there in the garden

1) 25 2) 30 3) 40 4) 10

How many times should % be added to % . So that the sumis 2 ?

1) 8 2) 6 3) 7 4) 9

If Mitali takes a loan of ¥ 30,000 at the rate of 12 p.c.p.a. for two years and
Pritam takes a loan of ¥ 20,000 at the rate of 10 p.c.p.a. for four years.
What is the difference in interest between the two ?

1) = 400 2) T 1000 3) T 800 4) ¥ 200

English & Mathematic. Std. 5th Scholarship Eng. Med. Set- 1 (3)



31)

32)

33)

34)

35)

36)

37)

38)

39)

40)

41)

Pradeep has the same notes of rupees five, rupees 20, rupees 10, Then his

amount does not match which of the options ?

1) 2170 2) 1470 3) 1365 4) 1665
0.17+3.2 -1.09="?
1) 2.38 2) 2.28 3) 2.82 4) 1.82

If Ravi spends 522422 rupees for cement 212505 rupees for bricks. 120102
rupees for sand. 522422 rupees for land, how many rupees did he spend to
build a house ?

1) 1097531 2) 1255027 3) 1045029 4) 1055001
The number 7000000 is not -

1) 700 thousands 2) 7000 thousand

3) 70000 hundreds 4) 700000 tens

% % = ?

1) 85 % 2) 715 % 3) 95% 4) 25 %

A bundle of 50 rupees contains IJ 27925 to IJ 27983 conspcutive notes, how

many rupees are there in that bundle ?

1) T 2950 2) T 2900 3) T 3150 4) T 3200
- i B IfAB = 6.9 cm. Find the perimeter of ABCD ?
+ + 1) 225 cm. 2) 27.6 cm.

. v b 3) 27.5 cm. 4) 21.5 cm.

1) 6_2 2) 1_85 3) % 4) ]_75

1
If the purchase price of an item is 80 % of the selling price, how much is the
profit percent ?
1) 20% 2) 25% 3) 75% 4) 22 %
If a loan taken at the rate of S p.c.p.a. to be paid in one year, how many
rupees were borrowed if an interest of 25 rupees was to be paid ?
1) = 700 2) = 500 3) ® 750 4) T 1000

Which is the biggest fraction among the following ?
7

7
ORI 2) 100 3) 1000 ) 10000
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42)

43)

44)

45)

46)

47)

48)

49)

50)

Which of the following statements is correct ?

1) 90° angle is called abtuse angle. ~ 2) A square measures 360°

3) 180° angle 1s called right angle. 4) 125° angle 1s called straight angle.
My mother is three times my brothers age my brother is five years younger
than me. My sister is one year older than me. If my sister’s age is 21 years

then what is my mothers age ?

1) 45 years 2) 22 years 3) 49 years 4) 47 years
What is the 100 days interest on T 14600 at the rate of ¥ 5 p.c.p.a. ?
1) = 150 2) T 200 3) T 120 4) T 250

In the school 96 % of the students were present. If the number of absent
students is 12, then how many students were there on the attendance sheet
of the school ?

1) 320 2) 300 3) 280 4) 275

If a car travels at 60 km per hour, Then which of the following statements
is false ?

1) Car covers a distance of 120 ki m two hours.

2) Car covers a distance of 15 km. 1n 15 munutes.

3) Car covers a distance of 150 km. n 2 and half hour.

4) Car covers a distance of 210 km. mm 3 and 15 minutes.

Ram bought a TV for 19200 rupees and spent four hundred rupees for
transportation. If he wants make a profit of three thousand rupees in this
transaction, how much should he sell the TV for ?

1) T 22600 2) T 21600 3) T 20600 4) T 23600

The length of a rectangle is four cm. more than its breadth. If the area of the
rectangle is 96 sqcm. What is it’s length ?

1) 12 cm. 2) 8 cm. 3) 10 cm. 4) 16 cm.

How much will the interest of 6500 rupees for two years be less than the

principal at the rate of ten p.c.p.a. ?

1) 5700 2) 5400 3) 5200 4) 5000

From 15 hectometeres of rope, how many pieces will a piece of 25 cm be ?
1) 750 2) 6000 3) 600 4) 1800
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61)

9 4
20015~ ¢
16 13 11 12
D &5 2 45 3) 50 4 80
After traveling for three hours and 45 minutes. If Ram reached home at

1:45 in the afternoon, at what time did he leave ?
1) 11:00 2) 10:00 3) 9:00 4) 9:30
The price of 25 pens is equal to the price of 15 books. If the cost of a pen is

T 30. How much is the cost of a note book and a pen ?

1) = 85 2) T80 3) 5 4) v 70
What fraction does the shaded portion show in the adjoining figure ?
Z
N\ Z2 % % 2
72 ¢
R N Y 1) —

What is the difference between the number of prime factors and all the

factors of the number 42 ?

1) 4 2) 8 3) 5 4) 6
S dec. + 35 cm - 450 mm = ?
1) 3550 mm. 2) 35050 mm. 3) 35500 mm. 4) 30550 mm.

How many bundles will be produced if one dozen bundles are made from
six gross paper ?

1) 60 2) 62 3) 42 4) 42

150 - 40 =+ 8 x 3 + 17 if (3 + 17) is bracketed in this expression, the answer

will decrease by how much ?

1) 100 2) 108 3) 102 4) 52
How much is % of% of 1500 ?
1) 250 2) 260 3) 500 4) 600

A total of nine books worth Rs. 150 and Rs. 75 were bought and the cost was
Rs. 1125, how many books worth Rs 150 were bought ?

1) 6 2y 3) 4 4) 8
2425427 + 4251257 =?
1) 6676734 2) 667648 3) 6676684 4) 6776684
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62)

63)

64)

65)

66)

67)

68)

69)

70)

71)

In which of the following options are the parallel lines ?

) — 2)4’:;1 3)/\ 4)/f

«—>

An arc whose measure is ............ is called semi circle.

1) 160° 2) 180° 3) 90° 4) 360°

Find the pair of twin prime number ?

1) 41 - 43 2) 27-29 3) 31-33 4)5-9

What is the sum of all prime numbers greater than 30 and less than 70 ?
1) 485 2) 408 3) 439 4) 415

In a milk collection centre there are 450 bags of 1 litre each, 350 bags of

S00ml. each and 100 bags of 250 ml. each. If 590 liters of milk is distributed,
then how much milk is left ?

1) 40 litres 2) 60 litres 3) 20 litres 4) 90 litres

Which of the following fractions is greater than ;-; but smaller than —3’5- 2
1 3 4 6

1) 3 2) vy 3) < 4) 5

If the second Thursday of the month of April falls on the 9. Then on what
date will the third Saturday of the month of July fall ?

1) 19 2) 17 3) 18 4) 20
i l =9
3% + 0.25 + 2 1 )

60 70 70 70
DT 2) 2{00 3) 21000 9 1156

Which of the following statement is true ?

1) The Prime numbers are mfinite.

2) The triangular numbers limited.

3) The Prime numbers has mfinite factors.

4) 9 1s a tnangular number.

What is the triangular number with five bases ?
1) 18 2) 20

3) 42 4) 15
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72)

73)

74)

75)

If x is an odd number then which of the following is an even number ?

1) 2x47 2y 2843
3) 2x + 1 4) 2x+ 4
4+44+444 + 4444 + ............. there are nine chains in this category. If they
are added, Which digit will come in tens place ?
1) 2 2) 6 3) 5 4) 3
Which is the wrong pairs ?

9 _ 213 1 _ 205
1) 12ﬁ 17 2) 17ﬁ 12

3 111 2 _ 158

— | — ‘%— — -e—
3) 101] 1 4) 1: 5" 12

What is the difference between the sum of even and odd numbers from
21 to 30 ?
1) 6 2) 5 3) 10 4) 20

=D
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Time - 1:30 | Question Paper - 01 Mark - 150

PRE - UPPER PRIMARY SCHOLARSHIP EXAM
Marathi (Third Language) - Intelligence Test

1

-3 : gdi| JaNt FSeigEs 9oy freamden wiem IR 9w wiw fae

e AY e, FE, Ul 3. DUUAERT WER SUEH] AR, IO, AR, F7aH, 3R,
Gfell, FUFR 49 F1Tg FRoan anga. ofivd 9 THEH TaR FTR FREH dgHeR, 90, I9dd, J93
UiveR & TUudl 99 gd. ST 9 TR e, Fedil 39 dag[gHiEF FRE, gH 39 HigR
AUl T3, IUHON HaE ATfYEE qul, Wi, el 49 vdien dasne, AW a w49
Tl I FOATE 9 H{aE, ARR, ATTAATE], BN A9 FE FREW ATad. a3 9 Yl W TSR @ral
WHIGET HIs (3MA fawEm g Adfad a1, a1 g qaredl anagiurge @iE Her=a
T afigon Juam .

)

2)

3)

4)

8)

9

H YO FOUTET FREFT H13 AR 7

1) qrer 2) FWA 3) Hd 4) 1132
Fg firvar frdt Tl emea ¢

1) urg 2) w& 3) WR 4) |
Wil FT FREET HI3 AE ?

1) =2 2) TR 3) AR 4) T
WHR AT FORT -

1) rRaT 2) RIS 3) drwfE 4) FATSHE
(wrsft-wre, wi-wiL, gR-en, Me-dien, ager-ugdl, aws-awt) aU e
TFAGAT AN STl G UM weg Feet smea 9

1) 6 2) 4 3) 5 4) 3
Grdtadst gt T7 o /@ Atz

1) fagh 2) wwrEE 3) @ 4) s
T Ul HUEIE a9 uSuesTH -

1) w=EE 2) fe fe 3) wsA 4) fEmeEm
TH NaTHe SaET UE o W . g Wl

1) audi 2) wasS 3) it 4) dm
TGET WG UIEA W TEA Ao O AT Wi a1 e @ o 9
1) fhwa 2) wert 3) = 4) Uy
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10) §R ol | erest R e wioft fofgd ¢
1) Wgmg ik 2) #ENg T 3) dfhmEgEes  4) AR i
11) Gl qie oo Hordt w7

1) arian 2) qE 3) Hut 4) 3@
12) et YEU g Hivar ?

1) o 2) @i 3) Wt 4) HH
13) aq%:wisn::wnﬁ: ?

1) Hish 2) @m 3) dren 4) Tz
14) SOTAT FETARYYT ATEN 9T -

1) o 2) R 3) W 4) TR
15) ‘I¥ goier TrErE HoE qHET 53 SO R 9

1) #wiéH 2) wfg 3) et 4) wrfdr

16) wrefterdd gh fegmedl wegrh Wt ot

1) FHA X FBR 2) WEd X "algs 3) uied x e 4) SF@ x g
17) el argu=r enfor e e gien gehran gwia S ¢

1) e U 0 - 7 e O 2) Wiyl areul - TE gl

3) i Wl - g it 4) Syd e - a9 A5 A9 A
18) wrcitwddht wgur a wren e Tt ghreft st wordt 9

1) SE WRE O AR UR 9% 9 - EBR A8 Fedm Ao e,

2) WeIcE Jobd P fUe WId - Rl A FXe gE=AT Tl HIES] ST,

3) I Al o) fUhdia At - AYAT el O 4 9aEd.

4) I fumrer enfor € Eicd et - STl ded Ud U1 WEST BT 9 I,
19) #Et wWE Ui’ FHiomen wgoE 9

1) FgATS 2) STEl YgHOT!
3) SrEiEn Uigi e 4) HIEAFHAR
20) ‘YIS URT § 4 B ®W ST, 91 et IeA 91 sgHoR. Sivia aeE ad?
D[] 2) 3) [1] 4[]
21) wWEWRATE gAY W@ w g 9
1) S¥a 2) o 3) wrmatea 4) w1
22) qdfie arara g frmfesgra w9
1) # are wfgett, ot | e . 2) “‘Hi are urfEe; 9o at e ATEL”
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3) it e urfeedt; Tor |t ST ATE 4) it a1e Uttt or a1 AT AL

23) WSS : a9 AUt ;9

1) 3= 2) uETfeHt 3) Ut 4) AdrEsa

24) Wit ot gieait 1 wifoet gt wioedt 9

1) 3= - i 2) ¥ - e 3) &9 - &l 4) WX - W

25) [m] )= [= =] o] o orgm ruiqul T3 TUR HAr T o= s 9ol Hom aq 7

26)

27)

28)

29)

30)

1) =1 2) W 3) 4 4) =3

ABCDE FGHIJ KLMNO PQRST UVWXY

7,2,6,9,4,8,2,6,3,4,5,6,8,9,6,4,9, 2,9, 2 In the above series, how
many times the digit 9 adjacent to 6 but not 3 ?

1) one 2) two 3) zero 4) three
P,S,T,OOR,N,O,S,E,J,M, U, P, W, R, W Which four successive letters
from the above series form a meaningful word ?

1) nose 2) jump 3) hom 4) stop

47, 86, 95, 73, 82, 68, 21, 42, 48 In the above series, how many numbers are
divisible by two and three if we interchange the position of the digit ?

1) 4 2) 3 3) 2 4) 5

If the first group of the alphabet is placed in the third position, The second
group is placed in the fourth position. The third group placed in the first
position. The fourth group is placed in the second position. Which is the
seventeenth letter in the new alphabet formed ?

1) B 2) 1 3) G 4) S

Identify the incorrect term from the following.

cow, ox, horse, camel, goat, lion, dog

1) lion 2) dog 3) camel 4) horse

31 - 35 Find out odd man out.

31)

32)

1) 10 2) 28 3) 66 4) 16

1) 2) 3) 4)
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33)
34)
35)

1) Theur 2) Ranjangon 3) Lenyadn 4) Verul
1) cocoa 2) water 3) coffee 4) linseed

1) 6318 2) 4312 3) #1322 4) 6530

36 - 39 : Which term comes in order in the series ?

36)

37)

38)

39)

40)

41)

42)

43)

44)

2, 5,9, 19, 37 ?

1) 71 2) 73 3) 75 4) 83
4, 6, 12, 14, 28, 30, ?
1) 58 2) 60 3) 62 4) 64

AO+@:0+1@A > +[1@AO> *
1) O+A@L] 2) OLIA @+ 3)) U@AO+ 4) +0LA@®

Ginger, Onion, beet, ?

1) rice 2) maize 3) brinjal 4) potato

Which term is incorrect ?

curd, milk, oil, cream, buttermilk, butter

1) malk 2) o1l 3) cream 4) curd

If seven countries play each other twice in the world cup cricket tourna-
ment. How many matches will there be in total ?

1) 21 2) 46 3) 42 4) 26

Geeta is clever than Meena but not Rakesh. Sunita is clever than Raveena
but not Meena. Who is the most cleverest ?

1) Rakesh 2) Geeta 3) Meena 4) Raveena

Mrs. Patil has four sons and two daughters and all of them are married.
What is the total number of persons in her family ?

1) 10 2) 9 3) 12 4) 11

If the age of the mother is five times the age of the child and the father is five
years older than the mother. What is the age of the child if the age of the
father is 40 years ?

1) 1.1 2) 9 3) 7 4) 8

45 - 49 : The first term and the second term holds a specific relationship. The

same relationship holds true in the third term and the fourth term. Select

the correct alternative to replace the question mark.
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45)

46)

47)

48)

49)

Cricket : pitch :: boxing : ?

1) circle 2) court 3) stadium
Newspaper : press :: cloths : ?

1) taylor 2) mull 3) shop
author : book :: poet : ?

1) lesson 2) drama 3) poetry
oM T el

1) 49 2) 51 3) 48

Ol €] @
1) 2)@ 3)

4) ground
4) textiles
4) poetess

4) 57

'@

50 - 51 : Find out the mirror image of each of the question figures below :

50)

51)

YZ SNY AS YIS AS

| 5 @ 3) @)

Hal2 Hals CI66 Io]H 63
(1) @) (3) @)

52 - 53 : Find out the water image of each of the question figures below :

52)

S

(1) (2)

(3)

(4)

(1) 2)

(3)

(4)
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34)

How many trees will be required in five rows of five hundred meters length,
If one tree at a distance of five meters each ?

1) 501 2) 500 3) 505 4) 510

On a road 140 meters long Banyan, Peepal, Mango, Chiku, Guava trees
are planted at a distance of fix meters respectively then which tree is the
seventh from the end ?

1) Peepal 2) Banyan 3) Mango 4) Guava

56 - 57 : Find out the figure which is exactly identical to the question figure.

56)

57)

60)

61)

O, ® [] L] ®

Que. Fig. (1) 2) 3) 4)

25 Y = P 5
D e DIKPDIP DK D D
~ ~ A ~ ~

Que. Fig. (1) (2) ) )

If Rakesh left his house and went East. then he turned left at right angle,
then he again turned left at right angle, then he went North, and they he
turned right at right angle in which direction is he looking now ?

1) West 2) East 3) South 4) North

If independence day falls on Thursday then; when will childrens day fall
that year ?

1) Wednesday 2) Thursday 3) Friday 4) Tuesday
Radha’s seventh birthday was on Thursday 15® March 2013; Then on what

day was she born ?

1) Tuesday 2) Wednesday 3) Monday 4) Thursday
What number replaces the question mark ?
65 82 2
4 | 7 2911 5111
1) 146 2) 121 3) 127 4) 142
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62 - 63 : Find the answers by observing the venn diagram below :

Tea —

62) How many people drink coffee and tea ?

1) 18 2) 9 3) 8 4) 15
63) In Venn diagram how many people drinks only one drink ?
1) 31 2) 18 3) 32 4) 42

64) Ina code, The number 6317 is written as 98. How will you write the number
3562 in this code ?

1) 72 2) 76 3) 88 4) 16
65) In a code, The following digits represent the given letters.

Letters M| N[O |P|Q|R|[S |T|U|V
Digits | 1 |2 3|4 |5|6 |7 |8]9]0

How to write the word ‘stop’ ?

1) 7853 2) 7843 3) 7834 4) 3987
66) 34, 8 12 9
85 20 13
18 14 6 16
D 45 2) 28 3) 30 Y 48
67) 7125, 9156, 7114, ?
1) 6325 2) 8135 3) 6261 4) 9733
68) How many quadrlateral are there in this figure ?
1) 45 2) 60
3) 30 4) 24

69) Which option shows the relationship between animals cow and bull ?
)
@ 2@ 28 o
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70)

1)

72)

73)

74)

75)

leather : cobbler :: wood : ?

1) carpenter 2) blacksmith 3) goldsmith 4) mason
axe : break :: spade ?
1) add 2) dig 3) divide 4) kill
ey imy nloy 2
3 6 9 12
y < 2) 12 3) = 1) 12

5 6 ] 9 Which number replaces the question mark in the

figure above ?
3 | 3
1) 81 2) 85

= [ 45 3) 121 4) 144
What is your best attitude when school is over ?
1) play 2) chat with a friend
3) going to a friends house. 4) go to home
What will you do if you are ineligible in all sports when school organizes

sports competitions.

1) keep playing at home.

2) go to school to watch the competition

3) Let’s go ground the schoold making a mess

4) walk around the village naming the teachers.

B aa ——u
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